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Introduction
[bookmark: _Hlk126747574]The WF [1] in RAN4 #110 suggests to further discuss the AC and RC labs alignment criteria. This contribution provides additional analyses.

Issue 2-2-4: RC vs AC harmonization criteria 
Agreement:
AC results are reference for comparison. some initial options for further consideration
· Option 1: compare the averaged value of each method
· Option 2: compare the max deviation of RC and AC from each test lab
· Option 3: compare the max deviation of RC and AC across test labs with same device
Further discuss whether some of RC configurations should be clearly specified, if harmonization conclusion is reached. 

AC and RC lab alignment consideration

	
	Pros
	Cons

	Option 1
	Allow deviation within a given limit, e.g. RC lab alignment criteria
	Does not accentuate maximum deviation

	Option 2
	Strict alignment criterion
	Does not allow deviation within a given limit

	Option 3
	Stricter alignment criterion
	Use of single device deviation may be too strict.



The table above lists the pros and cons of all three options with the following assumptions:
(a) the same set of devices are measured in both AC and RC labs
(b) all AC labs are aligned
(c) all RC labs are aligned

If the above assumptions hold, option 1 seems to be the most reasonable option for AC and RC alignment because 
(1) [bookmark: _GoBack]option 3 is the strictest criterion of all three options. Noncompliance to option 3 could be triggered by a single device. Mechanism that could be activated by a single device (or measurement point) should be ruled out.
(2) option 1 allows RC deviations within RC lab alignment criteria. It would be unreasonable to penalize allowed deviation within RC lab alignment criteria as proposed by option 2.

Proposal 1: use option 1, i.e. the average of each method, as the AC and RC lab alignment criteria in option 2 and 3 have shortcomings.
Conclusions
This contribution makes the following proposal.
Proposal 1: use option 1, i.e. the average of each method, as the AC and RC lab alignment criterion as option 2 and 3 have shortcomings.
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